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#include <stdio.h>
#include <stdlib.h>
#include <math.h>

int main(void)
{
double T=3.0; /¥ 3 00000 x/
double h=440.0; /* 440Hz OO =*/
double vol=0.7; /* 70% OO OOO0O x/
double sample=44100.0; /+* DO O OO0 44100Hz */
double t,y;
short int z; /* =32767732767 OO0 =*/

for(t=0.0; t<=T; t+=1.0/sample)
y=vol*sin(2.0*M_PIxh*t); /* M_PI=0 00O (in math.h) */

z=32767*y;
putchar (z&0x00£f) ; /x OO 8 bit OO0 =*x/
putchar ((z>>8)&0x00£ff); /x OO 8 bit OO0 x/
}
return O;
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1] 0000000000 yomi O WWWOOO
http://takeno.iee.niit.ac. jp/ " shige/unix/yomi/yomi.html

2] DDOO0O0O0O0O0OO0000 sndglisOOO0OO0O
http://takeno.iee.niit.ac.jp/ shige/unix/yomi/yomi.html
#sndglis-sample
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3] gnuplot 0000000000 thl2snd 00000
http://takeno.iee.niit.ac.jp/ shige/unix/yomi/yomi.html
#tbl2snd-sample



